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1,

(i),
(i)
(iii)
(iv)
“(v)

The following is the standard mix of production of Product — A : 14
Materials | kgs. e e
R)
A 20 17.30
B | 12 18.00
C 8 13.00
The standard loss is 10% of units introduced: Actual production is 1,080 kgs., the actual
consumption and cost of material used is as.under :
Materials | kgs. T'.]tal Prlc:“
®)
A 640 12,80_6
B 240 3,600
c_ a0 | 3600
Calculate the fnl.lnwing variance :
Material cost variance
Material price variance
Matérial usage variance
Material mix va;i ance
Material yield variance -
- OR
P.T.O.
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Fhe standard labour hours and rate per unit of Article

‘A’ of tHimani Co. Ltd. werg as

under - 14
o e —— e ——
Type of workers | Hours Labour Rate
per hour (3)
__.iliillcd 5 30
Semiskilled 4 25
Unskilled 8 10.50
The Efctual production was 200 articles of ‘A’ for which actual hours worked and wages
are given below |
Type of workers — Falel W
Hours )
Skilled 900 36,000
Semiskilled 840 16,800
Unskilled 2,000 19,000
Calculate the following variance :
(1)  Labour Cost variance
(i) Labour Rate variance |
(11i)) Labour Efficiency variance
(iv) Labour Mix variance
(v)  Revised Labour Efficiency variance
2. The following details are taken from the cost records of Kelal Ltd. : 14
__ Particulars Standard Actual
Hours 550 450
Fixed-overheads (%) 26,400 26,880
Standard production rate per hour (Units) 6 | -
Days 23 27
Production (units) - 3,696

Calcalate the following variance :

(1)
(ii)

(iii) Volume variance

AF-111

Fixed overhead variance
Expenditure (Budget) variance
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(iv) Efficiency variance

(v) Capacity variance

(vi) Calendar variance
OR

From the following information, calculate : 14
(1) Sales Value Variance
(2) Sales Price Variance
(3) Sales Volume Variance
(4) Sales Mix Variance
(5) Sales Sub-Volume Variance —
Standard Actual A
Product | Quantity | Selling Total Quantity | Selling Total
(Units) | price ) ) (Units) | price ) )
A 2,000 10 20,000 3,000 9 27,000
B 3,200 14 44,800 2,800 15 42,000
0 2,800 22 61,600 4,200 4 .20 84,000
8,000 | 1,26,400 /| 10,000 1,53,000
3.  Nirav Company Ltd. wants to purchase one machine out of two machines. The details
related to Machines are as follows : 14
Particulars A B
) )
Estimated Life of Machine 5 years 5 years
Purchase price of machine (%) | 6,80,000 | 6,00,000
Scrape valueof Machine (¥) - 80,000 50,000
Income Tax Rate 50 % 50 %
Expected rate of return of company 10% 10%
Expect_:d income before depreciation and tax :
Year | A B
1 3,50,000 5,00,000
e 3,00,000 | 3,50,000
;& 4,20,000 | 2,50,000
4th 3,70,000 | 2,50,000
KL 3,50,000 | 2,20,000
9 P.T.O.
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You are requested to guide the company,

purchased under :

(1)

Payback period method

(ii) Average rate of return method

(iii) Net present value method

Present value for the first five years at the rate of 10%

0.751, 0.683 and 0.621 respectively.

OR

(A) Explain the meaning and importance of capital budgeting.
(B) Explain the Internal Rate of Return method for evaluating profitability of capital

expenditure proposal.

4. (A) The following information are related to Ambica Ltd. ;

Selling price per unit < 60

Variable cost per unit <45
Fixed cost < 60,000

: -
Sales at present 10,000 units

Calculate the following :

(i)  Profit volume ratio

(i) Break-even pointin units
(1) Margin of s.ﬂfaty~ {1 units
(iv) Profit atsales of .5,00,000

(B) The information of business of Nirali Ltd. is as follows :

AF-111

_F.

Particular. | February (T) | March (3)
Total Sales 12,50,000 15,00,000
Profit 1,25,000 1,75,000

From the above information, calculate ;

(1) « Profit volume ratio .

(11) Fixed Cost

- (1i1) Break-even points in unit

(iv) Required Sales to earn profit of T 2,50,000
OR

10
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(A) State the advantages and limitations of Marginal costing.

(B) Explain : 7
(1)  Opportunity Cost
(11) Relevant Cost
5. Select the appropriate alternative : (any seven) 14
(I) The Efficiency Variance is also known as
(a) Quantity Variance (b) Spending Variance
(c) Rate Variance (d) Budget Variance
(2) Labour Idle Time Variance will always be
(a) Adverse (b) Favourable
(c) Controllable - (d) None of the above
(3) The purchase department manager is usually held accountable for
(a) Material price Variance . (b) / Material usage Variance
(¢) Labour efficiency Variance (d) * Labour Rate Variance
(4) Expenditure (Budget) Variance =
(a) Budget Cost — Actual Cost
(b) Actual Cost = Budget Cost
(c) Actual Quantity —=Budget Quantity
(d) None of the above
(5) If actual sales is 5,000 units, budgeted sales is 4,000 units, actual profit per unit
is T 10 and Budgeted profit per unit 1s I 8, what will be sales margin price
‘Variance ? |
(a) +.10,000 (F) (b) —10,000 (U)
(¢) -8,000(U) ~ (d) +38,000(F)
(6) A project’s Net Present Value 1s + 10,000 at 10% discount factor and — 15,000 at
20% Discount Factor. Internal Rate of Return is
(a) 14% (b) 18%
(c) 16.67% (d) 10.40%
AF-111 11 F.I.A)
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() An annuity is
(a)
(b)

(€) A series of equal but consecutive payment
(d)  None of the above

A series of unequal but consecutive payment

A . .
Series of equal but non-consecutive payment

®)  Whj - X
ich of the following considers a project’s profitability ? ‘

(a) Pay —~ Back Period (b) Pay Back Reciprocal (perio
(€)  Average Rate of Return (d) Discounted cash flow

9)

Discount factor i« highly nécessary in
(d) Pay- Back Period (b) AverageR '
Sh

(¢) Net Present Value (d) Earnin

(10) A releyant cost is | |
(a)  anotional cogt .
(¢) an Opportunity cost ne I e above

) Loss
(d) Total variable cost

(12) IfP.V. Rati
will be of wh

(a)
)

in of ] '
- g safety is 40% and Sales is ¥ 5,0{_1,000, fixed costs

(b) ¥2,50,000
(d) = T3,50,000
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fime : 2% Hours] \Max. Marks : 70
i, The following is the standard mix of production of Product A 14
Materials kgs. Price per kg.
)

A 20 17.30

B 12 18.00

C 8 - 13.00

The standard loss is 10% of units introduced. Actual production is. 1,080 'kgs, the actual
consumption and cost of material used is as under :

; Total Price
Materials | kgs. @)
A 640 12,800
B 240 3,600
C 400 7,680

Calculate the following variance :

(i) Material cost variance
(ii) Material price variance
(iii) Material usage yariance
(iv) Material mix variance
(v) Material yield variance
OR
The standard labour hours and rate per unit of Article A’ of Himani Co. Ltd. were as
under: g% 14
| Labour Rate
Type of workers | Hours =
Skilled b -0
Semiskilled 25
Unskilled 8 10.50
b 19 P.T.O.
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The actual production was 200 articles of ‘A’ for which actual hours worked and wages

are given below :

Tvreolworkers Total Total Wages
Hours )
Skilled 900 36,000
Semiskilled 840 16,800
Unskilled 2,000 19,000

Calculate the following variance :
(i)  Labour Cost variance
(i) Labour Rate variance
(i11) Labour Efficiency variance
(iv) Labour Mix variance

(v) Revised Labour Efficiency variance

2. The following details are taken from the cost records of Kelal Ltd. :

Particulars < Standard Actual
Hours 550 450
Fixed overheads (%) 26,400 26,880
Standard production rate pef hour (E:Inits) 6 -
Days 25 27
Production (units) = 3,696

Calculate the following variance :
(i) Fixedoverhead variance
(i) Expenditure (Budget) variance
(111)« Volume variance
(iv) Efficiency variance
(v) Capacity variance
(vi) Calendar variance
OR
From the following information, calculate :
(1) Sales Value ;sfariance

(2) Sales Price Variance

AF-111 20
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(3)

Sales Volume Variance

(4) Sales Mix Variance

(5) Sales Sub-Volume Variance
Staridard Actual
Product | Quantity | Selling Total Quantity Selling Total
(Units) | price (%) (<) (Units) price ) )
A 2,000 10 20,000 3,000 9 27,000
B 3,200 14 44,800 | 2,800 15 42,000
C 2,800 22 61,600 4,200 20 84,000
8,000 1,26,400 10,000 1553,000
Nirav Company Ltd. wants to purchase one machine out of two machines. The details
‘related to machines are as follows : ya 14
Particulars AQR) BR)
Estimated Life of Machine 5 years 5 years
Purchase price of machine () 6,80,000 | 6,00,000
Scrape value of Machine (%) 80,000 {50,000
Income Tax Rate 50% 50%
Expected rate of return of company 10% 10%
Expected income before depreciation‘and tax ' |
Year A B
] 3,50,000 [ 5,00,000
on 3100,000 . 3,50,000
3™ 4,20,000 | 2,50,000
4 3,70,000 | 2,50,000
5 1713,50,000 | 2,20,000
You are requested to guide the company, out of two machines whic  achine is to be
purchased under :
(i) Payback period method
(i) Average rate of return method
(iii) Net present value method |
Present value for the first five years at the rate of 10% discount for X 1 is 0.909, 0.826,
0.751, 0.683 and 0.621 respectively.
OR
- /R.P.O.

AF-111

21

Scanned with CamScanner

nnnnnnnnnnnnnnnnnnnnn



(A) Mr. Priyanshu wants to invest 2 5,00,000 for 3 years at 12% compound interest

per annum.

He has three options :

Option : 1 Compounding is d
Option : 2 Compounding is d

Option : 3 Compounding is d

one annually.

one quarterly

Which option would be more profitable ?

Under A-1 table of compound interest

(1)  The factor value of ¥ 1 at end of 3 years at 12% p.a. is T 1.408

one Semi-annually

(2)  The factor value of T 1 at end of 6 years at 6% p.a. is T1.419

- (3)  The factor value of ¥ 1 at end of 12 years at 3% p.asis T 1.426
(B) Explain the concept of “Time Value Of Money”.

4. Naram Ltd. wants to purchase a new machine t@ increase ‘its production capacity. The
company has two alternatives. The initial investmentiis ¥ 1,00,000 for each option and

the estimated life is 5 years. The net cash flow.i§ as follows :

Machine - A | Machine - B
Year -
® 4 ®
| 40,000 20,000
2 20,000 30,000
3 30,000 40,000
4 30,000 - 40,000
5 40,000 50,000

Decide, which machine is more beneficial using the method of Internal Rate of

Return endiscounted cash flow :

AF-111

Year l 2 3 4 5
The present value of T 1 at 15% 0.870 | 0.756 | 0.658 | 0.572 .| 0.497
The present value of ¥ 1 at 20% 0.833 | 0.694 | 0.579 0.842 | 0.402
The present value of ¥ 1at25% | 0.800 | 0.640 | 0.512 | 0410 | 0328
OR
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1.
-

(2) Labour Idle Time Variance will always be

(3) The purchase department manager is usually held accountable for

(4) Expenditure (Budget) Variance =

(9)

(6)

(A) Explain the meaning and importance of capital budgeting.

(B) Explain the Internal Rate of Return method for evaluating profitability of capital
expenditure proposal.

gelect the appropriate alternatives : (any seven)

(1) The Efficiency Variance is also known as

(a) Quantity Variance (b) Spending Variance
(c) | Rate Variance (d) Budget Variance

(a) -Adverse (b) Favourable
(c) Cnntrnllablg (d) None of the above

(a) Matenal price Variance (b) Material usage Variance
(c) Labour efficiency Variance (d) Labour Rate Variance

(a) Budget Cost — Actual Cost

(bj Actual Cost — Budget Cost

(c) Actual Quantity — Budget Quantity
(d) None of the above

Variance ?
(@) + 10,000(F) (b) - 10,000 (U)
(€) »— 8,000 (U) (d) +§,000 (F)

at 20% discount Factor, Internal Rate of Return is
@) 14% | (b) 18%
(c) 16.67 % (d) 10.40 %

If actual sales is'5.000 urits, budgeted sales is 4,000 units, actual profit per unit
is 7 10 and‘Budgeted profit per unit is ¥ 8, what will be sales margin price

Aprojéct’s Net Present Value is (+) 10,000 at 10% discount factor and () 15,000

7

14
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(7) An annuity is =
(a) A series of unequal but consecutive payment

(b) A series of equal but non-consecutive payment
(c) A series of equal but consecutive payment
(d) None of the above

4

N\

(8)  Which of the following considers a project’s profitability ? '
(a) Pay - Back Period (b) Pay Back Reciprocal (pen
(c) Average rate of Return (d) Discounted cash flow

(9) Discount factor is highly necessary in
(a) Pay - Back Period (b) Average Rate
(c) Net Present Value (d) Eammgo
(10) As per the concept of time Value of Money Q oneyis .

(a) Equalin all years

(b) Higher in earlier years than in

(c) Higher in later years than in

(d) None of the above
(I1) Compound mterestl'

(a) Principal

(b) Interes
' t + Interest amount

above

est is compounded every six months at 12% annually on ¥ 2,000, what
amount at the end of 3 years ?

(a) “¥3,728 (b) 2,738
c) 2,837 (d) 3,287
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